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Attempt any Five questions.
All questions carry equal marks.
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(@) Explain the Production Possibility Curve (PPC). What does
its slope signify ?

(b)) Due to 5 fall in the price of a commodity, its demand

rises by 40 units and become 100 units. If new price is

Rs. 15, then find the price elasticity of dt;mand.

(¢) Define Opporti.mily Cost with examples. o 10+545
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'Differentiate between Price Elasticity and Income

Elasticity of demand.

What is the meaning of zero price elasticity of demand

and infinite price elasticity of demand ?

What is Price Control ? How does-it lead to Black-

marketing ? ' 20
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(«)  Explain the law of Diminishing Marginal Utility.

(h)  Explain the Consumer I-iquilibrium with the help of
indifference curve.

(¢) Explgin the difference between Giffen goods and Inferior
goods. 8+8+4
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(«)  Discuss the relationship be(wc.erin Average Cost and

‘Marginal Cost.

(h)  Define Price effect, Income effect and Substitution

effect.
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(¢)  What docs budget line show ? How does it change when
prices of two commoditics and income change in diflerent
directions ? _ {+8+4
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(v)  Explain the law of Diminishing returns to factor and
Diminishing returns to scale.

(»  Differentiate between Perfect Competition and

" Monopolistic Competition. 10+10
PTO.
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(«)  Why is the sup_pl'y curve of Labour backward bending ?

Exphain.
®) Explain the p.rice discrimination of Monopoly.  10+10
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(@) Critically examine the theory of Comparative Cost

Advantage of International Trade.

(b)) What do you understand by protectionism ? What
policies does the Govt. adopt to provide brotec!ion to

our home industries ? i . 10+10
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Write short notes on any nwo - 10+10

. (@) The Diamond-Water paradox
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(6)  Nash Equilibrium
(¢)  Cross price elasticity of demand

(d) ~Consumer surplus.
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